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among the \following is known as
alidas of Haryana ?
A) Deepchand Bahman
 (B) Kishan Lal Bhaat
(C) Swami Hardev
(D) Pandit Bhatru Qutbi

If sin® + cosech = 2, then
sin?f + cosec29 =

(é) j (B) 1 EsE
¥
(©) (D) 2 m%-
&l i notation, operators
are placed before the corresponding
operands.
(A) Prefix (B) Postfix
(C) Infix (D) All the above
4. Sonipat is called as City of
Haryana.
(A) Golden (B) Global
([€jSecicrce (D) Silver

The vertical member of wood or metal
supporting the handrail is known as
(A) Wall plate (B) Baluster «~
(C) Arch (D) Voissor
Which among the following
Constituencies does not come under
Bhiwani district of Haryana ?
(A) Loharu (B) Dadri
\/(6) Badhra (D) Meham

If sinx + cosx = a, then sin®x + cos®x =

. Pt 89 e s
FEd ¢
) S deE v
S RENEIG RIS
(C) Tl e
- (D) Ufsd 9a® Fesll -
‘f 2. )3fe sind + cosecd = 2_@??[((\
9

sin20 + cosec2 <Al g 'iﬁTﬂ

(8) 8 L@ 1

(C) 4 (D) 2
3. = st NeTivciee :mqizﬁﬁwﬁa
TS | Yeed [T ST @ |
(A) Siiteer (B) Trftherd
C) 3had LD S |t
4. GrIud s R TRFEAR |
L e = (B) dfeersh
(C) fogm (D) diet
5. TS I FEN o a1l wiehel 3 91 %
FERL IR hEY H T ST R |
(A) TERE B SIGER

(C) 3TTeh (D) TRIER
6. Frefeifian 8 & -1 AT & SR
forar o o STaia et eman ¢ ;

 (A) SRR (B) I=I
€T T (D) HEH

.) IfE sinx + cosx = a, @l sinx
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fg; gggggpy (B) Skeleton

Fossils %
In India the ‘National Women’s Day’ is
observed every year on
(A) 24 February (B) 13 February
(C) 13 January \./('B) 23 January .

10. India’s first Aero Sports Centre was

opened in which place of Haryana ?

\6()() Narnaul

(C) Loharu

(B) Narwana
(D) Manesar

11. If Pis the sister of Q, B is the sister of

Q and P is the sister of D, then which
of the following statement is definitely
| e 2

(A) D is the sister of P
(B) Q is the sister of B
(C) Q is the sister of D

k/(D}*P is the sister of B

12. Which of the following is not a type of
door ?
\__{AT Clerestory
(B) Panelled
(C) Flush
(D) Battened and ledged

is known as architect of

modern Haryana.
~ (A) Om Prakash Chautala

(B) Dr. Sarup Singh
. Bhagan Lal <l

13.

10.

;

12.

13.

() gt

ug d

F AT SR

(A) 24 T (B) 13 ®afl

(C) 13 SHad (D) 23 ==t
Wmmm@éﬁzzmtm
T W G T4 7 e
(A) AR (B) F&@H1

(C) SrE™= (D) AT

e P, Q F 579 B, B, Q Fl @=d & 3R
P, D # 5e4 2, « fr=fefiga 4 @ f9-a
FoA Afma i wam g ?

(A) D, P o84 8

(B) Q, Bl wga?

(C) Q,DFH T2

(D) P, BRI sed 8 —

frafafaa 4 8 F9-91 @™ =
YR TS 8 ?

(A) FREERT

(B) ¥ es

(C) FT30

(D) e 3N A

N S -
FEd & |

@) st v e
(B) <. maqﬂ'ls
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15. Sohna Car rally passes through the
district of Haryana.

A) Gurugram (B) Ambala

(C) Faridabad (D) None of these

16. Complete the following analogy.
United States : Bald Eagle : : India : ?
(A) Peacock hiectaNe=

(C) Lion (D) Sparrow
17. How many total number of members

are nominated by President to Rajya
Sabha ?

(A) 15
e

18.

(B) 02
(D) 06

is used as food preservative.

(A) Saccharin

(B) Alitame
L/!Q)/Sodlum benzoate «—

(D) Sucralose

19. What is the population density of
Haryana as per census, 2011 ?
(A) 573 persons per sq. km
(B) 855 persons per sq. km
(C) 666 persons per sq. km

|__{B} 733 persons per sq. km ., %

20. If tan® = 3, 6 lies in the 3" quadrant,
then the value of sin® is

15. QEneR

(A) TEITH e
(C) FlaTemE (D) ﬁﬁﬁ

16. feAfcARaa gaeTdr qof Hifsg |
TR TS : 771 %G : ¢ 9/ = 7

(A) T (B) =T
(C) I (D) Terfe=n
17. ST 91 % Hl fehd- Gaedl i Aegaid
HAIT hLdT © 7
(A) 15 (B) 02
ey (D) 06
18. ao‘rscraﬁﬂ@wqﬁmﬁ%w
3 fopam ST ® |
(A) TeRia
(B) Hciten
(C) ifszH sisue
(D) Goheitt |
19. 2011 aﬁwwm%aﬂmxgﬁmm

STHEET S T B 7
(A) 573 Tfer S =t feopet
(B) 855 =Afed Sicl ot fepet
(C) 666 SAfFa gl ot foreft
(D) 733 Afeq Ul ol feoprll




22. The National Youth Policy (NYP-2014)
launched in February 2014 defined
Youth’ as persons in the age group of

AR 15 = 56 Vi

(B) 20 - 40 years
(C) 18 - 25 years
(D) 15 - 35 Years

/

23. Which among the following districts

dogs not come under the semi desert
plain in Haryana ?

\./(K)"Karnal ——
(C) Hisar

(B) Sirsa
(D) Fatehabad

If x =logy7, y = log, 9, then xy =
_E%%E'E.
¥
BT 1
%o L
(€) O

BN

(D) 2

25. The two vertical members of door
frames are known as

(A) Beam (B) Sill

GRS (D) Panel

26. does not undergo Friedel

Crafts reaction.
(A) Toluene \_{BJ Aniline *
(D) Xylene

(C) Cumene

27. operation is used to get
the common tuples from two tables
and is represented by symbol N.
(A) Minus (B) Union

(C) Intersect AP) Difference

28. This was a famous Urdu newspaper

published from Haryana

(A) Haryana Samachar
 {B) Haryana Kesari .—
~ (C) Haryana Tilak
. © Savdhan

AD-A - 2021

Hfifd

22. W& 2014 § & H TE TEH JA <

(NYP — 2014) 4 gamsir &l ___
3T T 1 Afad Sl & |

(A) 15— 29 a4

(B) 20 — 40 I

(C) 18 — 25 a9

(D) 15— 35 a9

=1 8§ - e shemn 3
S AeH o A A= ST 2
(B) T

(D) BABTEE

23.

(A) HETA
(C) fEm

24. Zlﬁ'x=log97,y=1og7 9,?ﬁxy$['qﬁ

1

®) 5 (B) 1
(©) 0 D) 2

25. NS % $H % 31 SLATER R Y

% wﬁg;{qmem%l Al

Erads (A) (B)

HEE 6 e (D) e

26. ¥ ¥ forud wized e uffwn T2
TR ?
(A) =T (B) Wit
(C) Tt (D) STRIEH

27. 3 AMARR U IS 20eq T el 5
e NI S = o
ST & TR 3 ~ efioh S ST Sl & |
(A) T (B) I
(C) W (D) fewew

28. IE TN § YRR BN are
o
(A) BT HHT=IR
(B) oM ShER
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Ras J -4

“—8) 70 -

0 (D) 84
1) 4‘: 9, 16, 25, 36

31. Which of the followin
simple umbe] inflores
(A) Onion

Coriander -
(C) Carrot

(D) Fennel .

cence ?

32. A rectan

direction of the induced
changes once in each

(A) One-fourth revolution
(B) Two revolutions

\__A€J One revolution
(D) Half revolution

33. Due to which scheme, Haryana

has become the first State in India

to implement the use of injectable

contraceptives as a family planning

measure ?

(A) Salamati Scheme e
Operation Muskan .
) Antyodaya Aahar Yojna
P ‘Gramodaya

g is example for

: gular coil of copper wires
1S rotated in a magnetic field. The

current

ree of the differential equation

33.

2. 37,48 5y

(A) 68 B) 7
(C) 80 (D) 84
30. 1,4,09, 16, 25,
(A) 49 (B) 35
(C) 48 (D) 36
31. F=fafed § @ $-w @ s

FT [/ ? k.
(A) @S
(B) ufar
(C) SR
(D) di®

et 1 R Y O STRRERR et 9 o S
&1 8 S S R | M R B R v
5 U SR aRafi O 2 |
(A) T~ iy

(B) &1 i

(C) T yofq

(D) 3T guiq

e a5 ¥ swon, efamn T vhzmi
MR s % w0 d siqaagw qy
nﬁﬁﬁw%mﬁ%mﬁaw%mp
WA 1 U8 T 57 747 ? i
(A) GETH? JreT

(B) TG T

(C) AN ITER TS
(D) wHrE"
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A d;htheﬁstrucmm above the
ground upto the floor level of ground
floor is known as s

(A) Ridge
L)G)"Pﬁnth

36. This Rohtak based model won the
Miss World title in 2017

(A) Geeta Phogat

(B) Deepa Malik

(C) Sakshi Malik
\__AP) Manushi Chillar -

(B) Eaves
(D) Dormer

37. The upper horizontal portion of a step
upon which the foot is placed while

ascending and descending
__{A}-Tread - (B) Riser
(C) Stringer (D) Newel

) If x is real, the minimum value of

x2-8x+ 17 is BAY
\
AR 2 (B) 0
gy ~1 (D) 1

Which of the following districts of Haryana
is not drained by Yamuna river ?

\_{A] Hisar .~ (B) Panipat

(C) Sonipat (D) Karnal

40. Find the mirror image.

39.

® (]

40. T vfaffm g@ w1

(C) Traft "fcr
(D) =g foeert
37. U O T S e v e W Tl SR
Sk ST Gd ¥ SR
" s (B) T 7‘,
(c) fm (D) 3 4asn

38. aR x IAfIF &, T x2 - 8x + 17 H Laq
wH g g~ 08
(A) 2 ‘
(C) -1

39. fimfafaa § @ fra e & g0 34 s
yaTe J8 @ 7 :
(A) femm (B) wrHga
(C) |iTa (D) FE

(B) 0 : ,
(D) 1 l—‘*"q‘:kt. y

N
w[Z
o[Z]

s
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Which of the following is not a

communication etiquettes ?
(A) Be Responsible

e ceise

(C) Be Polite

(D) Be Credible

'343. The value of sin28°cos62° + cos28°

sin62° is
4
) = (B) 0
1
g/('CT 1 (D) _2—
44. Haryana is the first State to adopt 44.

t__(AyTirtha Darshana Scheme

(B) Mahila Police Volunteer Initiative
(C) E-governance Initiative [E#[E]
(D) Mobile Police Stations e

45. The steel plant at Bokaro was set up | 45.

in 1964 with collaboration from

(A) England _ABJ Russia
(C) USA (D) Japan
46. uses refraction to 46.

direct the light through the media. ?Elgm
(A) Twisted Pair Cable EIEH:

(B Optic fiber v/

(C) Coaxial cable
(D) None of the above

47. The Kabaddl World Cup was first 417.

(B) 1996
- (D) 2008

@ sm28°cos62° + cos28° sin62° bl HFH
EﬁTIT E,‘a 1 A\ _\

(G

(C) 2004

Seffaa Y FA-E G
@) feeREm
(B) &I BT

() fomm &M

(D) Toraefa &

4

A 3 (B) Ci
D) 5

SO Tl e ST SR & |
(A) e euia e
. (B) Tfew gicrd wi=s Ted
(C) §-TTeHY YEd
(D) WW@W
1964 T W H A GIF hHl LA
_ FTEMAHTE |
(A) FTE B) &
() ITET (D) ST

_ ffem % 9rem ¥ g i FRRE
A o ToTT 1T 1 ST el © |
(A) TEid ™ cheie -
(B) AT BIER
(C) THTEd dr At
D) W A A HE Tl
EENCHE o ke 1

() 2002

a;
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* Which flowers are also called
bilaterally symmetrical ?

Zygomorphic -
(B) Regular
(C) Asymmetrical
(D) Actinomorphic

50. DPC stands for
(A) Dry Polygonal Course
By Damp Proof Course .
(C) Dry Plain Course
(D) Deep Pile Cap

S51. Which of the following is not a
number data type in python ?

(A) Char (B) Int
(C) Float (D} Complex

52. If A and B are two matrices of the order
3xm and 3xn respectively and m = n,
then the order of the matrix 5A — 2B is
(A) 3xn (_Bjmxn
(@)3%3 (D) mx3

53. ) This lake is mentioned in the ancient

book of Alberuni’s ‘Kitab-ul-Hind’
(A) Hathnikund
{B] Brahma Sarovar { -
(C) Karnal lake
(D) Surajkund
54. ‘Snake’ is related to ‘Hiss’, whereas
E ‘Lion’is related to
; (A) Cry (B) Meow
' (D) Neighs

‘and Baoli is

50.

51.

52.

53.

54.

(A) @r@ﬂﬁ%- |
(B) T
(C) rem i

(D) TfFemifthes

STt T Herers "
(A) T2 TiferTe s

(B) 79 3 hig

(C) TS ™A g

(D) S T8 Y

ugA # frefefaa 3 @ se-a1 vs g
S 1 JhR A2l 2 ? %
(A) 3 (B) = i
(C) TR (D) e

afe A 3R B 5FH: 3xm 3R 3xn FHiie hal
Y & R m = n 3, Tl ST 5A — 2B
1 Ife Tt
() 3xn
(C) 3x3

2 3ol 1 Sooil Jeertdl sl T
ferdre-3a-fee § o T &

(4) Blorie il e
(B) SR @ISR b

(€ o
D) T&Hs
‘E'T'q’ ¢%q7©_ ‘~
‘-ﬁt’wﬁﬂﬁ%l

(B) mxn
(D) X8 | -




57. Haryana’s first nuclear power plant
was set up in
(A) Sonipat (B) Panipat
(C) Fatehabad (D) Rewari EE
58. Find the odd one out. !3!%
Aa) 11 B) 61
e 31 (D)RCHNE
59. The NITI Aayog came into existence on

)J)’ {/60.

61.

62.

Join Telegram Group

ch of the following does not represent
rical power in a circuit ?

‘:(A)' VI (B) IR
2 v?
(€) IR ) ==

(A) 1 January 2016
(B) 1 April 2015 «
(C) 1 April 2016

(D) 1 January 2015

The power of concave lens of focal
length 5 m is '
(A) —0.2D (B) —0.1D "~ &=
{C) —0.16D (D) —0.4D

During which year Sukhna lake was
declared as National Wetland ?

(A) 1990 (B) 1981
(1936 (D) 1988

The process of covering surface of
walls, columns, ceiling, flooring and
other building elements with thin
coat of plastic materials (mortar) to
form an even, smooth, impervious
and durable surface are known as

(A) Curing v~ (B) DPC
(D) Plastering

vabhata Regional Science

o) |

"Harya.naJobs.in"

yifeRy ol et q=iar ?
® (A) VI (B) I’R
V2
2 IR s D) &
57.  STETOT o1 YET RHTY] STl 62 hel
fopam TR o ?
(A) FiTd (B) dHTId
_A€) HATIETE (D) Tt
58. fi= = MU |
(A) 11 (B) 61
(C) 31 D) 21
59. fifer STRINT A A |
(A) 1 ST 2016 :
__(B) 131 2015
(C) 1 3T 2016
(D) 1 Sl 2015
iR e e
(A) —0.2D (B) —0.1D
_{Cr-0.16D (D) —0.4D
61. ford ¥ gEaT Sitcr sl U TR oW =S
[ERIRIEING
(A) 1990 L—B) 1981
(C) 1985 (D) 1988
62. dEN, WHl, o, B X I He dedl bl
HAg I Tk GHM, Feehl, AHgT SIR f&
Hdg SH % (I8 WA amlt (Hie
(C) e
63. M
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~ (A) Memory unit
(B) Input device o
—1C) Central Processing Unit (CPU)
(D) Mother board

65. In Haryar}a, National Horse Research
Institute is situated at
(A) Rewari 4By Hisar “—
(C) Sirsa (D) Karnal
66. Arrange the words given below in a
meaningful sequence,
1. Nation
2. Village
S €ty
4 IDiSasci
S. State \
(AR 854 O B 2S48
(©n2,8,4. 1.5 ([D)FLS 2,18, 485
67. Which of the following is a type of
flooring material ?
(A) Coping (B) Mosaic =
(C) Cornice (D) Chajja
68. The Economist who wrote a book

‘Poverty and Famines’

(A) Montek Singh Ahluwalia
 —{B"Amartya Sen -

(C) Bimal Jalan —

(D) Gunnar Mirdal

69. Which of the following statements
is/are correct ?
1. Haryana Electricity Reform Act
1997 came into force on
14t August 1998. B
2. Haryana Electricity Reform Act
1997 was passed by the Haryana
~ Assembly on 2284 July 1997. 5

—is commonly called |

65.
(@] T (D) FATA
66. i fau T vt W aE FE T B
1. T e g
3. TR
4. TS
(4) 1,3, 5,4, 2 S(E) DNSEN.
(C) 2,3,4,1,5 B N
67. FH U Y HH-H1 % Gl 1 Th R R
(A) Hif (B) AN
(C) i@ (D) TS =
68. WWWW@&
() W e TR
(B) 3w i
(C) Tomet sTem
(D) TFRfda
69. T=fIiEa T A HH-
1. B forga
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ced emf is produced when

lagnet-is moved into a coil. The ql Th S SEAT

iagnitude of induced emf d t ST
e d e 0€s no B e R forefe et T |
(A) The strength of the magnet (A) T <l Fiferd
(B) The speed with whi I
which (B)nﬁmmggaﬁﬁﬁﬁlw%

magnet is moved 4
(€) The number of turns of the coil. 0 @;ﬁ &% gm?:ﬁ o1 TET g

. (D) The resistivity of the wire of thel ; E
(D) et o R 1 FfdUehdT E

coil

a5

71, S AR R R

71. Which of the following is not system

software ? G
(A) Device drivers gﬁ (A) Tearsd g5l
(B) Microsoft word ' (B) HISHIEITE IS
(C) Operating systems (C) FAraRfeT faEen
(D) System utilities |~ B fowem gfefafest
72. FAR stands for 72. TUHUSR h HATE ©
(A) Floor Approved Ratio (A) FAR AIEIS I
(B) Final Area Ratio (B) BT=eT TR A3 5
(C) Floor Area Ratio \—~" ___{Cy TR ufe M .
(D) Finish Average Reading (D) e vl G
73. Sur Samman Award of Haryana is 73. BT § Y G GOk o
given in which field ? T foa ST & | i
(A) Cinema (A) fem
(B) Agriculture (B) BN
(C) Sports (C) T
/ _E' E.
(D) Literature (AP E‘%
a Which of the following State has 74, THfIfed 3 @ forg ST 3 Som e
launched ‘Uttam Beej Portal’ which ude’ e R R R I Y S
~ will benefit the farmers by providing afeq W SIS SU

quality seeds with transparency ?
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The following sentence contains
- grammatical error or idiomatic error
~in it. You have to find out that part of
the sentence and choose the alphabet
of that part as your answer.

She is more beautiful than anyone of
her two sisters.

(A) No error
(B) She is more beautiful
(C) than
AP anyone of her two sisters

76. Give one word substitute for the

following.

Something that is harmful, poisonous
or injurious.

(A) Notorious

(B) Novice

(C) Nuptial
D) Noxious

Fill in the blank with appropriate
concord from the alternatives given

below it.

717.

Neither Tom nor his friends

come.
(A) is _—(B) have “
(C) does (D) none of these

Choose the passive form of the givm
sentence from the alternatives given

below it.
Will they wash clothes in the evening ?
{A) Will clothes get washed in the

~ evening? ‘ |

79.

81.

82.

QB) easy and comfortable

Pl 1

Choose the V"i"i"g‘ﬁt;?q
given in brackets from &
alternatives given below it and fi
the blank. S
He (reach) home before it
starts raining. i3
(A) will be reached

(B) reached

(C) will have reached
(D) will reach

Choose the antonym of the given words
from the alternatives given below it.

Brutal

(A) bestial

(B) compassionate 2
(C) inhumane

(D) direct

Choose the correct meaning of thﬁ
given idiom. :

To hang in the balance.
(A) fruitless task

C) to be undecided
(D) to boast Y (R
Fill in the blank ‘
phrasal verbs frc
given below it.

Please
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1 7 3 9 ¥ 8 o v o 7y
F R, w7

) i

84. ISR 0l & <f wife Sef 2, 3 & e o
R S g s
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